my (GeV) | Mr (GeV) | p7* (GeV) | Hy < 100GeV | 100 < Hy < 200GeV | Hr > 200GeV
50 — 100 175 £ 20 166
100 — 150 VEY 23
0-100 |00 7 - 946 41
=200 25108 1
50 =100 50 L8 56
0-75 | 100—160 | 100 =150 243 13 1043 13
> 150 12104 1
50 =100 VES) 3
100 = 150 143 14
> 160 55200 76 %009 2 6+2 1
=200 12105 i
50 — 100 (WZCR) [ 2/9+38 250
100-150 | 286144 260 | 87 L13 81 | 21 0+40 292
150-200 | 62414 51 | 2646 20
0-100 —50=250 [ 20£5 10 | 8%2 10 8118 69
250 =350 BI6 3
 — 644 9 | 641 5 e 2
50-100 | 321542 297 54L8 9 516 o5
10150 | 50L14 38 | 1143 11 1i3 12
150-200 | 542 2 | 22409 2 it 5
75105 | 100160 —55—755 19+£08 1
250-300 | 11405 2 | 05404 2 18108 2
=300 10£05 1
50-100 | 2516 18 | 6%2 5 913 12
10-150 | 1245 13 30113 2 112 2
i | 190-200 | 5+2 5 [11+04 0 [ 20507 2
200 =250 15507 2
250-300 | 442 2 | 09+04 3 [06£03 1
=300 11405 1
0=100 =50 173 L 21 170
~105 [100-160 | S350 4L 28
> 160 > 50 BL6 2




